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401 A& 2 2 0H ] 130,000 50,000 80,000
01 Al &bl 130,000 50,000 80,000
OZTZHSAL XL 50,000
OFB4+TLUSST B2ls U T4 222 30,000
OBNE A& 222A 50,000
e DOPE XM 2,113,582 0 2,113,562
401 AIEBI L2 T 2,113,582 0 2,113,562
01 Al &t 2,106,000 0 2,106,000
OF4 DUPE 224 AF 2,106,000
03 Al & T HI 7,582 0 7,582
OF4 FOPE 224 A=
2,106,000,0002 0. 36% 7,582
MEHSAE FHAL 250,000 920,000 670,000
401 A& B2 2 T 250,000 920,000 A670,000
01 Al &bl 250,000 914,480 664,480
OMBHSALTLLN FHE THBA 250,000
MSDA THAY 3,001,192 1,324,000 1,677,192
3 849,000
2 2,152,192
401 A& 2 2 0H ] 3,001,192 1,324,000 1,677,192
3 849,000
2 2,152,192
01 Al &t 2,991,000 1,316,056 1,674,944
OME? MS2H EX MY (HL) 5,000
OGS MSDA T4 (HAM) 2,831,000
=l 849,000
2 1,982,000
OGS MSDA TAAL(HH) 155,000
03 Al & STl 10,192 7,944 2,248
OB HMS2Y T4 (HAH)AL20H
2,831,000,0002 0. 36% 10,192
SERMBHR JISNAAL 300,000 0 300,000
401 AL 2 T 300,000 0 300,000
01 Al &t 300,000 0 300,000
OSEE ZLTAHYE) 180,000
OSUIRSAIE HEAS  120,000,0008 %19 A 120,000
BUZOIHSHEY NSLLHSAL LI AL 265,900 0 265,900
= 132,000
2 133,900
401 A& B2 2 | 265,900 0 265,900
=2 132,000
2 133,900




SH: 2TSAY L
HH: 20HE 84
ool RSAIL BB (el &
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko HRs2
01 Al &l 264,000 0 264,000
ORARDASME NSWy AL &3 264,000
= 132,000
= 132,000
03 Al & = CHt| 1,900 0 1,900
ORAZLASHE NSWLHY AL XA
A &2 1,900
HEe=23 g43 2 M= =4 752,760 678,760 74,000
= 63,000
2 689,760
NEAREEINR 23 752,760 678,760 74,000
= 63,000
= 689, 760
301 YBHE A 752,760 678,760 74,000
= 63,000
= 689, 760
M=t - 2s2SEH23 752,760 678,760 74,000
O&=t =0 374,000
ORad% Fo| 220,000
OtslzwY| 40,000
= 20,000
= 20,000
OMNEE 23| 118,760
= 43,000
= 75,760
HY2HZH (SSHSAIL D) 55,024 28,024 27,000
ol 2| 7,360 7,360 0
ol 2| 7,360 7,360 0
101 212 d| 3,800 3,800 0
RESPEEESIEPS 3,800 3,800 0
OEg= 3,800,000& 3,800
203 g =&l 3,560 3,560 0
02 Z3IHHHRFEH| 560 560 0
O&EJIAH R = 40,0003 14 560
04 EM2I TR 3,000 3,000 0
oMYA =AY 250,0002 *122 3,000
Jl2ZHl 47,664 20,664 27,000
Jl=&d| 47,664 20,664 27,000
201 L Et2FH| 37,944 13,944 24,000
01 At 22l 34,352 0,352 24,000
oz 10,352
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A E3HA

Y HHSHAH (2SI MSAIL D)

&t JI=3Hl CEREED
) _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2

O2HSAISE A MR L=
50,000 4802 24,000
02 23224 3,592 3,592 0
Oz 3,592
202 o4l 9,720 6,720 3,000
01 22U bl 9,720 6,720 3,000
ORAN2E =40t 9,720
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